Expressions and Formulas

Evaluate each expression.

L34 -7 —11 2, 4(12 — 42)
3.1+2—34) =2 4.12 — [20 — 2(6® + 3 x 29)]
5.20 = (5 — 3) + 543) 6.(—2)° — (3X8) + (5)(10)
7.18 — {5 — [34 — (17 — 11)]) 8. [4(5 — 3) — 2(4 — 8)] = 16
9. %[Ei — 47] 10. %[—5 + 5(=3)]

11, =850 12. S8 _ 17+ a-9)

Evaluate each expression ifa = %, b=-8,¢=-2,d=3,ande = %

13. ab®* — d 14. (c + d)b
b dib — )
15. &=+ d* 16. ——
17. (b — de)e® 18. ac® — bide
19. —bla + (c — d)¥] 20. 95 -
d e
21. 9bc — ~ 22, 2ab? — (d® — ¢)

23. TEMPERATURE The formula F = 2¢C 4+ 32 gives the temperature in degrees
Fahrenheit for a given temperature in degrees Celsius. What is the temperature in
degrees Fahrenheit when the temperature is —40 degrees Celsius?

24. PHYSICS The formula & = 120t — 16¢* gives the height k in feet of an object ¢ seconds
after it is shot upward from Earth's surface with an initial velocity of 120 feet per
second. What will the height of the object be after 6 seconds?

25. AGRICULTURE Faith owns an organic apple orchard. From her experience the last few
seasons, she has developed the formula P = 20x — 0.01x? — 240 to predict her profit P in
dollars this season if her trees produce x bushels of apples. What is Faith’s predicted
profit this season if her orchard produces 300 bushels of apples?

26. A person’s basal metabolic rate (or BMR) is the number of calories needed to support his
or her bodily functions for one day. The BMR of an 80-year-old man is given by the
formula BMR = 12w — (0.02)(6)12w, where w is the man’s weight in pounds. What is the

EMER of an 80-year-old man who weighs 170 pounds?



